TISEELEHB RSN TREE

(554 H 1B ~ST643H31H)

I . [RADES (HA7 1)
B oE B A A4 SE A NSAEE "
B 7 (A s
A TR A PR ik ik A ) L
1. B4 1. BB 4 1. BB 4 300,106 303,758 3,652
2. 2Rl R A | 1. A AL R HA G | 1. 44 ALEE R H A 4 40,000 40,000 0f%1
3. ZHHLE 1. ZHFIE 1. SZHFI B 4 2 A 2
LA A EF(A) 340,110 343,760 3,650
II. ZHOER (HA7: )
& o® B B S FNAMEJE A RNSAEE "
B 7 (A s
FE Iy R 5% ik A ) i =
1. 4kl B (1. AL RER |1, 4FlE T 100,000 100,000 0f>x2
2. BT R e Er | 1. PO IRAERE: | 1. 8B R B 150,000 150,000 0[%3
3. TlE 1. T 1. T 90,110 93,760 3,650
YA EH(B) 340,110 343,760 3,650
TR S 2% (A) — (B) 0 0 0

1 BB 5271 X 8,000 =40,000
X2 B)AFTr/— KHBRER
%3 (H)AFToY— HRBo e S
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TSR R E RESRISHNITHRE

(54 H 1B ~SF643H31H)

[. IRADE (B M)
E B A iR RAS EER
: B & %’F H ‘ ﬂ%ﬂi%}; w%ﬂiﬁ}; B3 (A) o
KEH HEE /NEFE THEEE THEEA
1. BG4 1. A4 1. A4 2,629,445 2,829,469 200,024
2. N4 1. A4 1. A4 200,000 200,000 03%1
3. ZHAFILE 1. ZHFLE 1. ZHHE 55 31 A 24
BHIN A G FE (A) 2,829,500 3,029,500 200,000
. ZHOE (HAZ: M)
- R AN 11 AN iN
: LR : TR TS RTINS W%
KEA AR E /NERA THEAA THEEA
1. KERESE 1. KERES 1. KERESE 2,800,000 2,870,000 70,000(3%2
2. Tlwte 1. Pt 1. Pt 29,500 159,500 130,000
L HAEH(B) 2,829,500 3,029,500 200,000
IR BRI S 280 (A) — (B) 0 0 0

K1 RRFIDOMA
X2 RLPE4210,000 X 287 A =2,870,000]

_67_




SRSEELT S FH SRR 2 —F)FHISFH NI TEE
(SFSHFAH1H~SF64E3H31H)

. XADES (BT )
e B B A4 TN 54 B - -
- - - Jex . HE I (A) [
IR B R A e S S " ¥
1. ST PHECEHIOAN (1. B2 FREORHIOAN |1, HSTFHECBHIUA 0 0 0
2. f A4 1. A4 1. A& 162,000 162,000 0% 1
3. HESTEA |1 HAESKES (1. HES RS 60,000 60,000 0]%2
LN A A FT (A) 222,000 222,000 0
. ZHOE (HAZ: )
B o #B H S RnAEE A NGHEE -
- - - e e HE I (A) -
KR EEE e SE T S § ¥
1. e 1. e 183,000 183,000 0
1. FRiELTE 44,000 44,000 0
2. oW A EEE 44,000 44,000 0
3. Sk AR 75,000 75,000 0
4. HES% 10,000 10,000 0
5. [N 10,000 10,000 0
2. EH 1. EHE 27,000 27,000 0
1. &t 10,000 10,000 0
2. WEEWRE 5,000 5,000 0
3. HFEM 2,000 2,000 0
S 5,000 5,000 0
5. Mg 5,000 5,000 0
3. Tt 1. Pt 1. Pl 12,000 12,000 0
LI H A EH(B) 222,000 222,000 0
WA S %8 (A) — (B) 0 0 0

K1 —REFPOERA
X2 HAERIVH WA TR
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TS EF SRS THRE

(BFISF4AH1H ~SFI64-3H31H)

[. WADE (HA7 1)
B oE B B S RNAMESE S RNSAEE -
. . HE - (A) -
KA R EHE TEA T : .
L BRERRIAN |1 FRERRIOA |1, FRESRIA 38,578,000 38,871,000 293,000)%1
LHII AR (A) 38,578,000 38,871,000 293,000
L. XD (HA7 1)
& oE B B S RNAMESE A FNSAESE -
. o HE -3 (A) i
A A fENE EHR T EE T EE ; .
1. MBS, Z5mE 1. kB e, 2B |1, MkE#e. Kme 35,015,000 35,015,000 0|3%2
2. HRIA THECEH 1. fRIA Tk 1. #RIAFECE} 200,000 200,000 0[3%3
3. HE 1. HE R 1. {HE R 1,298,000 1,617,000 319,000 %4
4. Gt 1. 2,065,000 2,039,000 A 26,000
1. A& 1,200,000 1,200,000 0[5
2. THE 865,000 839,000 A 26,000[3%6
YIS AR (B) 38,578,000 38,871,000 293,000
IR ER BRI S 7258 (A) — (B) 0 0 0
X1 FEEHEIHRES LY, KRB, Bitrbi ., HRHERER
22 M B4
3 AHFE BB A IRA e
24 —fREEHAHATREA~REA
X5 —REFAMEA~REA
6 R FHHEI N~
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STISEEHADEGMHR L F—Fmh (T 74 R) EEHRHNKFTFNEITRE

(B FI5HE4H 1B ~SF643H31H)

. IRADER (BAAZ: )
‘ LE5) E‘ B H ‘ %%uiﬁr;% %%uiﬁrﬁ B9 () =
KEHE HEE /NEHE THEE THEAE
1. EEEAAE |1, EEE Al 4 3,180,000 3,180,000 0
1. A AT 2,400,000 2,400,000 0
2. NS4 0 0 0
3. THn—Ty T WHEA 4 0 0 0
4. AR I—THE S 4 0 0 0
5. HHBRFEFR A4 780,000 780,000 0]3%1
6. WHERE: A4 0 0 0
YHIAGET(A) 3,180,000 3,180,000 0
0. XHoOH (BAAZ: )
\ h m‘ B H ‘ /ﬁ‘%uiﬁrﬁ %%uiﬁr;{“ B (A) =
KEHE HEE /NEHE THEE THEAH
1. A 3,180,000 3,180,000 0
1. 3,100,000 3,180,000 80,000
1. NM% 2,050,000 2,050,000 0
2. DNkt 150,000 230,000 80,000
3. FHE 120,000 120,000 0
4. [N 0 0 0
5. HHsRFHRE 780,000 780,000 0

_70_




2. WHE# 80,000 0 A 80,000

1. 74u=Ty7 WHEE 0 0 0

2. YAI—HHE % 80,000 0 A\ 80,000

3. WHE=%E 0 0 0

LA EH(B) 3,180,000 3,180,000 0
UM S 7250 (A) — (B) 0 0 0

X1 HBEFERR R
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TSR RIME N 58 A BRSO X EB RSN TREE

. IADE (HAZ: M)
B oE B B S RNAMEE S RNSAEE -
f%"n /\ i
R R FF R TR TR W) wo=
1. ZFEEIUA 1. ZEEEIUA 1. FEEE LA 220,000 220,000 0
LN A A ET(A) 220,000 220,000 0
II. ZHOER (HA7 )
s oE B B SRAFEE SRS E -
i%"n yaN
IS R A EFH TR TR WA LA
1. fHR B4 1. fHRE 4 1. fHER B4 22,000 22,000 0
2. JRIA Tk 1. fRA Tk 1. IRIAFEE 500 500 0
3. B 1. B 1. EHEE 187,500 187,500 o1
4. JHEBL 1. IHERL 1. VHERL 10,000 10,000 0f%2
Y AR (B) 220,000 220,000 0
IR ER BRI S 258 (A) — (B) 0 0 0

K1 R FHHEN AR
X2 —REFHAHARRASREA
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